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CHEN 490 — Fundamentals of Petroleum Engineering
HW #5-DueT. 26/11/2013

1. What will be the resulting density in Ibm/gal if 87.5 Ibs of clay is added to 10 bbls of water?
Sp. Gravity of water = 1 and clay = 2.5.

~ 2. How many bblis of water must be added to an existing system of 400 bbls of 11.5 lbm/gal mud to
reduce the density to 10.5 lbm/gal.

Using a flow meter, the output flow rate for a 12” x 18” Single-acting, Single cylinder pump
operating at 30 strokes/min was measured at 215 gal/min. Calculate the volumetric efficiency of

the pump.
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